Chemistry 112
Mole Conversions
1

Show how you arrive at your answer.  Clearly indicate your final answer and include the appropriate units.
1. How many hydrogens are indicated: (NH4)2CO3
8
2. How many oxygens are indicated: 3Ca(NO3)2

18
3. Give the molar masses of the following compounds: 

a) sodium fluoride (NaF)
41.9882g
b) potassium hydroxide (KOH)
56.1056g
c) manganese (IV) oxide (MnO2)
86.93685g
d) magnesium phosphate (Mg3(PO4)2)
262.8578g
4. Write the formula for oxygen gas. 
O2
a) How many atoms are represented by the formula for oxygen gas? 
2
e) What is the mass of Avogadro number of oxygen molecules?
31.9988g
5. Determine the mass in grams of Avogadro number of C12H22O11 (sucrose) molecules.
342.2965 g
6. You need 0.0100 mole of lead (II) carbonate. How much should you mass on the scale?
2.67g
7. Alanine, C3H7NO2, is a compound, which is one of the building blocks of protein. What is the molar mass of Alanine?
89.0932g
8. The average glass of water has a capacity of 500.mL. Water has a density of 1.00 g/mL. 

a. What mass of water is present in the full glass?
500. g
b. How many moles of water are in the glass?

27.8 mol
c. How many water molecules are in the full glass?
1.67 x 1025 molecules
9. How many ammonium ions are in 0.500 mol ammonium phosphate, (NH4)3PO4?

9.033 x 1023 ions
10. Give the molar mass for each of the following:

a. Iron
55.847g
b. Carbon tetrachloride
153.8215 g
c. Sodium carbonate
105.9885 g
11. Find the mass of each of the following:

a. 4.0 mole sulphur
130 g
b. 2.25 mole sulphuric acid
221 g
c. 0.0015 mole ammonium carbonate
0.014 g
12. Find the number of moles for each of the following:

a. 72.0g of oxygen gas
2.25 mol
b. 125g aluminium

4.63 mol
c. 1.45 x 102g ammonium nitrate
1.8115 mol
13. Calculate the following:

a. The volume at STP for 1.75 mole of oxygen gas
39.2 L
b. The volume at STP for 25.0g of methane gas (CH4)
34.9 L
c. The number of moles in 18.5L of HCL at STP

0.826 mol
d. The mass of  15.6L of propane (C3H8) at STP

30.7 g
